
Paper: 1MA1/1F 

Question Answer Mark Mark scheme Additional guidance  

1  18 000 B1 cao 

 

 

2  30 B1 cao 

 

 

3  reflex B1 cao 

 

 

4     0.03, 0.1, 

0.16, 0.2, 0.21  

B1 for 0.03, 0.1, 0.16, 0.2, 0.21     

 

 

accept 0.21, 0.2, 0.16, 0.1, 0.03 

5  8 B1  

 

Accept  8 or −8 

6  1.5(0) P1 for 4 × 1.30 (= 5.2(0)) or 10 – 1.80 (= 8.2(0)) 

 

Working could be in pence 

 

 

   P1 for 10 – 1.80 – “5.20”  (= 3) oe 

 

 

   P1 for “3” ÷ 2 

 

 

   A1 cao 

 

SCB2 for answer (£)2.4(0) 

 

 

 

 

 

 

 

 

 

 

 

 

Condone answer £1.5(0)p 




